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- 50, will be treated as malpractice.

(08 Marks)

b /the following 51gnals glven are periodic or not. If periodic, find the
fundamgntél period :

i) x(t) Zcos(2nt)sin(4nt)

i) x(n) = cos[n—;} + sin[%?@

Wi,

(08 Marks)

3 &

P ¥ : Fig. Q2(a) (08 Marks)
b \ Sketch and label for each of the followmg signals for given signals for given signal x(t)
~ show in Fig. Q2(b)
1) x[2(t—2)] '1) x(=2t+1).

9 v 9
Fig.Q2(b) (04 Marks)
c. Test whether the followmg systems are stable or not :

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

(04 Marks)
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Module-2
Determine the convolution sum of two given seq

X[l’l] {1 2, 3, 4} and x[n]-—-{l,l 3, 2} i, O Y (08 Marks)

Find the convolution sum of two finite dur, © )
h[h] = a" u[n] for all n ; x[n] = B“u(n) fofr alln i) when o # B 11) when o=Pf. (08 Marks)

2 o A
d Y(t) +6-27 dy(t) +8 (t) !
dt? dt t

K“u(t) and initial conditions are y(0) = 2 9%(:)—) =3, (10 Marks)

ym I and direct formf“TI .implementation of the following differential

2
s X(t) pfi“x‘(t). (06 Marks)

The input signal x(ﬁ)

Draw the d1rect
equation

(0 ¢

;y()Jr2 y(t) =

o ” Mo dule'3 f
State and prove the follawmg FT propertles
i) Linearity =~

ii) Time shift property. (08 Marks)
Find the FT of the following signals :
i) x(t) =e>'u(t-3)"
i x(@ =™ CMRIT LIBRARY (08 Marks)
“ BANGALDRE 560 037
(10 Marks)
it +3dy(t) +2y(t) = d"(t)
dt? dt
Find the frequency response of the system, also find the impulse response. (06 Marks)
Module-4
State and prove the DTFT properties :
i) Time shift property
ii) Frequ shift property. (08 Marks)
State and rove the Parseval’s theorem as applied to DTFT. (08 Marks)
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OR
Find the DTFT for the following signals :
i) x[n] = 2"u[-n] i) x[n]=(3)"un - 4). (10 Marks)
Obtain the frequency response and thc ’émpulse response of the system described by

(06 Marks)
e T
+«, Module-S
What is reglon of convergence (R&C)" Mention the propertles of RoC. (08 Marks)
Determine the Z —transform nf xfn] =—u[-n-1]+ %)0 u[ﬁ] and plot pole — zero location of
" (08 Marks)

) CMRIT LIBRARY
OR ¢ BANGALORE - 560 037

RoC i)|z|>1 ii)|z|<%.

(06 Marks)

(04 Marks)
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